By RE 107 2FEF -2 LHEETRL XA

2R BRI AR A AR AR E T2 L %18 #17
#8 %A% (Dynamics)

AEEFR
UD$ﬁ%ﬁ%4%’&%4%WK’ﬁ%2ams@ﬁﬂﬁ%o

(2) 3% &Ew EEALIERARR  ZAEAELARARLBR AR

#Wé%ﬁﬁﬁzﬁaﬁno
(3 “{]‘Wiﬁ%ﬁé‘.#k‘é(ﬁlngineering calculator is allowable) » Close book

1 The rod rotates counterclockwise around the O point,
and a slider on the rod slides outward at the same time.
If =+ 6t, =, the unit of r is m, the unit of fis rad,
and the unit of ¢ is sec. Try to find the slider’s velocity v
and acceleration ¢ at r=4 sec.

2 | There are two gears A and B. If A is fixed, and the B
gear is rolled on the A gear. When the gear A rotates at
an angular speed of 7 rad/s with ra=0.5m, the link AB
rotates at an angular speed of S rad/s. Please determine
the angular velocity of the gear B with rs=0.3m.

3. | The figure shows a wheel A with a mass of 30 kg

and a rotation speed of 40 rpm. If the length of a

brake lever is 12 m, the mass of a brake lever is
ignored, and a pressure of P is applied to the end
point to stop the wheel. Assume that the friction
coefficient of the contact point between the wheel
and the lever is 0.25. The wheel is stopped after
the wheel rotates for 1.5 cycles. Determine the

force P should be applied?

4 | A steel ball 4 with a mass of 0.8 kg move forward with a
speed of 4.8 m/s to collide with another static steel ball 5
with a mass of 2.4 kg. If the recovery elastic coefficient
e=0.8 between the two steel balls, please determine (a)
The speed of 4 and B balls after the collision? (b) Loss
of kinetic energy after collision? 4.8m/s




